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The figures in the margtn indicate full marks.

Candidates are required to give their answers in their own words
' ' as far as practicable. '

| GROUP - A
( Multiple Choice Type Questions )
1.  Choose the correct alternatives for the following : 10x 1 =10
1) .Whatisashell? v | | |
© a) Itisa hardware component :
b) It is a command intérprete‘r
¢) Itis a part of ‘;‘:ompiler
d)-ﬂ Itis a tool in CPU scheduhhg. ;
_ii)"  Virtual I_nemdry is |
‘a)’ an e:ét;"cmély large main memory |
b) an e‘xtremely‘largé ;éCOndaw memqry

c) an illusion of extr‘emél‘y large storage provision

d  a tjrpe of memory used in super co;nputers.
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i) Multiprogramming systems

B 4

a) are easier fp develop than singie programming

s&stems
b) ‘exécute’each job A-fas‘ter
c). execute more ’jol‘os’ in the same time
.d)- are 'us¢d only on large main frame computers.
) Whicﬁ is not ihe state of the prOcesé ?
a) Blocked ' b Running
. c) Rgady , o d) Priviléged.
V) ‘Th‘e‘_ number of . procgsses ccnipleted pér'unit time is
known as
a) Oﬁtput
vb) 'I"hroughpht
c) Eﬁ'l'clen'cy
‘d) | Capacity.
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vi) A critical region
a) is a piece of ‘code which executes only one process
at a time |
'b) isaregion prone to deadlock

c) is a piece of code which executes only a finite |

number of process
d) is found only in Windows NT operation system.

vil)) The mechanism that bring a page into memory only

when it is needed is called
a) Segmen;atgon
1“'*" , b Fragndentatlpn . -
<) I-J'e,mand‘Pa\ging’ |
d) fage Replacement. |
viii) PCB stands for | »‘
a) Program Control Block \‘ |
‘ b) Isrocessf.COntrol. Bldck
-~ ¢) Process Communication Biock /
| d) Nqne of these.
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ix) The Banker's ’a'l'goritvhm is used
| a) - to prévent déadlock in operat_ing Systemé

b)  to detect deadlock in o;ie?ating systems
ci | to reétify a deadl;icked state .
d)' 'noﬁe of these.

_A X)  FIFO scheduling is
a) Preémptiw;e scheduling
b) Nori-‘pféemptive sﬁhédqling

- . - 7 c) Deadline schédulingl |

d)  Fatr share scheduling.

.GROUP-B
( Short Answer Type Questions )
Answer any three of the following. 3x5=15

2. | Explain PCB with a neat diagram. | B

3. Explain multﬂevei feedback uneuve. ( |

4. Explairi'the difference beitweenkprocéss é\nd program.
5. What do you’ mean by critical regions ? ,

6. What is the difference between a long-term schedulers and a

short-tefm sCheduler ?
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 GROUP-C
(Long Answer Type Questions )|
“Answer any three of the following. 3x15=45

D'efine a process. Describe the life cycle of a process.A
" b) What do you mean by synchronization with respect to
‘ Inter Process Communication ? .
c) Define context switch. | o (2+4)+5+4.
8. .a)) What do you understand by race condition ? Give few
- examples . of arising of race condition in concurrent
processing.
b) Suppose that the followmg processes arrive for
execution at the time indicated :
- Process Arrivél Time Burst Time
P1 i S0 8
P2 , 1 4
P3| - 2 N 9
. P4 : 3 | 5
What is the average waiting time for these processes
with -
i) FCFS scheduling algorithm.
i)  SJF scheduling algorithm.
i) RR scheduling algdrithm. o
o) What is the importance of an interrupt in scheduling ?
(3+2)+6+4
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9.

10.

a)

m“

c)

a)

b)

c)

3066
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Consider the following snapshot of a system :

Allocation ~Max Available

ABCD ABCD  ABCD

P, 0012 . 0012 1520
P, . 1000 1750
P, 1354 2356
P, 0632 0652
B, 0014 0656

Answer the following questions using the banker's

* algorithm.

i) What is the content of the matrix need ?

i) Is the system in a safe state ?

i) Ifar request from process P, arrives for ( 4, 2, 0 )
can the request be granted immediately ?

Write the difference between partition allocation and
multiple partition allocation.

Under what condttions do page rfaults occur? 10 + 3 +2

- What is critical section problem ? Explain with a
* suitable example

What is semaphore ? Write down the algorithm, using
semaphore to solve producer -consumer ( Finite lubber )
problem , o /

 Write down the problem with disable irlterrupts.
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11, Write short xiétes on any thrée of the‘ following : : 3x5=15
i) | thual Mac;hine_ |
- 1) "Mor'ntor -
iii) Thrashing
iv) ‘Distribﬁted os

v)  RAID.
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